## Bid #PNC2114822C1 - Andrews Avenue Drawbridge Rehabilitation

Start Date Dec 29, 2017 9:05:57 AM EST Awarded Date Not Yet Awarded

PNC2114822C101-01 Best and Final Offer: Base Bid: Mobilization/Demobilization									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Seacoast	First Offer -	\$225,000.00	1 / lump sum	\$225,000.00					
Product Code:		Supplier Product Code:							
Agency Notes:			Supplier Notes:						
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer -	\$230,500.00	1 / lump sum	\$230,500.00	Υ				
Product Code:			Supplier Product C	Code:					
Agency Notes:			Supplier Notes:						

PNC2114822C101-02 Best and Final Offer: Base Bid: Insurance, Payment Bond, and Performance Bond									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Seacoast	First Offer - \$63,000.00	1 / lump sum	\$63,000.00						
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
KIEWIT INFRASTRUCTURE SOUTH CO. ✓	First Offer - \$87,000.00	1 / lump sum	\$87,000.00						
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

PNC2114822C101-03 Best and Final Offer: Base Bid: GENERAL CONDITIONS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$1,000.00	1 / lump sum	\$1,000.00						
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Seacoast V	First Offer - \$457,113.00	1 / lump sum	\$457,113.00						
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:						

PNC2114822C101-04 Best and Final Offer: Base Bid: SPECIAL CONDITIONS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$1,000.00	1 / lump sum	\$1,000.00						
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Seacoast	First Offer - \$20,000.00	1 / lump sum	\$20,000.00						
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							

PNC2114822C101-05 Best and Final Offer: Base Bid: MAINTENANCE OF TRAFFIC									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Seacoast	First Offer -	\$258,000.00	1 / lump sum	\$258,000.00					
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
KIEWIT INFRASTRUCTURE SOUTH CO. 🗸	First Offer -	\$538,000.00	1 / lump sum	\$538,000.00					
Product Code:		Supplier Product Code:							
Agency Notes:			Supplier Notes:						

PNC2114822C101-06 B	est and Final Offer	r: Base Bid: REMO	VAL OF EXISTING S	TRUCTURES		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs

Seacoast 🗸	First Offer - \$62.00	5440 / square foot	\$337,280.00			
Product Code:		Supplier Product Code:				
Agency Notes:	Supplier Notes:					
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$74.00	5440 / square foot	\$402,560.00			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PNC2114822C101-07 Best and Final Offer: Base Bid: CONCRETE CLASS IV (SUBSTRUCTURE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$2,800.00	100 / cubic yard	\$280,000.00						
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Seacoast /	First Offer - \$3,162.00	100 / cubic yard	\$316,200.00						
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							

PNC2114822C101-08 Best and Final Offer: Base Bid: CONCRETE CLASS IV, PEDESTRIAN RAMP, LEAF SHOULDERS (LIGHTWEIGHT)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$2,800.00	40 / cubic yard	\$112,000.00						
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Seacoast /	First Offer - \$4,300.00	40 / cubic yard	\$172,000.00						
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							

PNC2114822C101-09 Best and Final Offer: Base Bid: REINFORCING STEEL (SUBSTRUCTURE)									
Supplier	Unit Price	ce Qty/Unit Total Price Attch. Do							
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$1.00	30000 / pound	\$30,000.00						
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Seacoast V	First Offer - \$2.00	30000 / pound	\$60,000.00						
Product Code:		Supplier Product Code:							
Agency Notes: Supplier Notes:									

PNC2114822C101-10 Best and Final Offer: Base Bid: BRIDGE DECK EXPANSION JOINT ,REHAB- CLEAN,SEAL,REPLACE, POURED WITH BACKER ROD									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
KIEWIT INFRASTRUCTURE SOUTH CO. 🗸	First Offer - \$90.00	51 / linear foot	\$4,590.00						
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Seacoast 🗸	First Offer - \$200.00	51 / linear foot	\$10,200.00						
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2114822C101-11 Best and Final Offer: Base Bid: STRUCTURAL STEEL REHABILITATION-BASCULE LEAVES									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Seacoast	First Offer - \$20.00	5000 / pound	\$100,000.00						
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$25.00	5000 / pound	\$125,000.00						
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

PNC2114822C101-12	Best and Final Offer: Base Bid: ALUMINUM BULLET RAILING (SINGLE RAIL)
-------------------	---

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Seacoast V	First Offer - \$25.00	1750 / linear foot	\$43,750.00			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$78.00	1750 / linear foot	\$136,500.00			
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

PNC2114822C101-13 Best and Final Offer: Base Bid: MOVABLE BRIDGE MACHINERY & CASTING - REHAB, F&I SPAN LOCKS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Seacoast	First Offer - \$127,884.00	2 / assembly	\$255,768.00					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
KIEWIT INFRASTRUCTURE SOUTH CO. 🗸	First Offer - \$150,000.00	2 / assembly	\$300,000.00					
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:					

PNC2114822C101-14 Best and Final Offer: Base Bid: MOVABLE BRIDGE MACHINERY & CASTING - REHAB F&I HYDRAULIC CYLINDER								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Seacoast	First Offer -	\$161,123.00	2 / each	\$322,246.00				
			Supplier Product Code: Supplier Notes:					
KIEWIT INFRASTRUCTURE SOUTH CO. 🗸	First Offer -	\$210,000.00	2 / each	\$420,000.00				
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:				

PNC2114822C101-15 Best and Final Offer: Base Bid: MOVABLE BRIDGE MACHINERY & CASTING - REHAB F&I HYDRAULIC POWER PACK								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Seacoast	First Offer - \$323,991.00	1 / each	\$323,991.00					
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
KIEWIT INFRASTRUCTURE SOUTH CO. 🗸	First Offer - \$400,000.00	1 / each	\$400,000.00					
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:					

PNC2114822C101-16 Best and Final Offer: Base Bid: MOVABLE BRIDGE MACHINERY & CASTING - REHAB RECONDITION TRUNNION ASSEMBLY								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Seacoast	First Offer	- \$17,894.00	2 / each	\$35,788.00				
Product Code:			Supplier Product Code: Supplier Notes:					
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer	- \$30,000.00	2 / each	\$60,000.00				
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:				

PNC2114822C101-17 Best and Final Offer: Base Bid: MOVABLE BRIDGE MACHINERY & CASTING -REHAB RECONDITION LIVE LOAD SHOES							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer	- \$24,000.00	1 / lump sum	\$24,000.00			
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Seacoast V	First Offer	- \$54,213.00	1 / lump sum	\$54,213.00		•	

Product Code:
Agency Notes:
Supplier Product Code:
Supplier Notes:

PNC2114822C101-18 Best and Final Offer: Base Bid: MOVABLE BRIDGE COUNTERWEIGHT, F&I, BALANCE BLOCKS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Seacoast	First Offer - \$100.00	1000 / each	\$100,000.00						
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$125.00	1000 / each	\$125,000.00						
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

PNC2114822C101-19 Best and Final Offer: Base Bid: MOVABLE BRIDGE COUNTERWEIGHT, ADJUST								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
KIEWIT INFRASTRUCTURE SOUTH CO. 🗸	First Offer - \$38,000.00	1 / each	\$38,000.00					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Seacoast /	First Offer - \$70,000.00	1 / each	\$70,000.00					
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2114822C101-20 Best and Final Offer: Base Bid: MOVABLE BRIDGE PREVENTIVE MAINTENANCEAND ROUTINE REPAIRS							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Seacoast	First Offer - \$70,000.00	1 / lump sum	\$70,000.00				
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
KIEWIT INFRASTRUCTURE SOUTH CO. 🗸	First Offer - \$70,000.00	1 / lump sum	\$70,000.00				
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					

PNC2114822C101-21 Best and Final Offer: Base Bid: MOVABLE BRIDGE OPERATOR								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$1.00	548 / day	\$548.00					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Seacoast V	First Offer - \$450.00	548 / day	\$246,600.00					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2114822C101-22 Best and Final Offer: Base Bid: MOVABLE BRIDGE FUNCTIONAL CHECKOUT (PHASE C)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00				
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Seacoast V	First Offer - \$40,000.00	1 / lump sum	\$40,000.00				
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					

PNC2114822C101-23 Best and Final Offer: Base Bid: ALUMINUM SIDEWALK FLOOR								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Seacoast	First Offer - \$73.00	700 / square foot	\$51,100.00					
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$80.00	700 / square foot	\$56,000.00					

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes:

PNC2114822C101-24 Best and Final Offer: Base Bid: MOVABLE BRIDGE GATE, F&I								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer	- \$60,000.00	5 / assembly	\$300,000.00				
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					
Seacoast V	First Offer	- \$68,865.00	5 / assembly	\$344,325.00				
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					

PNC2114822C101-25 Best and Final Offer: Base Bid: MOVABLE BRIDGE GATE,REMOVE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
KIEWIT INFRASTRUCTURE SOUTH CO. 🗸	First Offer - \$1,200.00	5 / assembly	\$6,000.00					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Seacoast /	First Offer - \$1,810.00	5 / assembly	\$9,050.00					
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2114822C101-26 Best and Final Offer: Base Bid: MOVABLE BRIDGE-SIGNAL, F&I								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Seacoast	First Offer - \$13,277.00	4 / assembly	\$53,108.00					
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$14,000.00	4 / assembly	\$56,000.00					
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						

PNC2114822C101-27 Best and Final Offer: Base Bid: MOVABLE BRIDGE-SIGNAL REMOVE & DISPOSE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$1,200.00	4 / assembly	\$4,800.00						
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Seacoast /	First Offer - \$1,990.00	4 / assembly	\$7,960.00						
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							

PNC2114822C101-28 Best and Final Offer: Base Bid: MOVABLE BRIDGE ELECTRICAL EQUIPMENT, REHABILITATION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Seacoast	First Offer - \$965,000.00	1 / lump sum	\$965,000.00				
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$1,266,000.00	1 / lump sum	\$1,266,000.00				
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				

PNC2114822C101-29 Best and Final Offer: Base Bid: MOVABLE BRIDGE EMERGENCY GENERATOR, F&I								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer -	\$130,000.00	1 / assembly	\$130,000.00				
Product Code:			Supplier Product C	Code:				
Agency Notes:			Supplier Notes:					
Seacoast /	First Offer -	\$135,882.00	1 / assembly	\$135,882.00				
Product Code:			Supplier Product C	Code:				

Agency Notes: Supplier Notes:

PNC2114822C101-30 Best and Final Offer: Base Bid: MOVABLE BRIDGE EMERGENCY GENERATOR, REMOVE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$2,000.00	1 / assembly	\$2,000.00					
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
Seacoast 🗸	First Offer - \$7,476.00	1 / assembly	\$7,476.00					
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						

PNC2114822C101-31 Best and Final Offer: Base Bid: SUBMARINE CABLE ASSEMBLY- F&I									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
KIEWIT INFRASTRUCTURE SOUTH CO. 🗸	First Offer -	\$150,000.00	1 / lump sum	\$150,000.00					
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:					
Seacoast /	First Offer -	\$254,876.00	1 / lump sum	\$254,876.00					
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:					

PNC2114822C101-32 Best and Final C F&I	Offer: Base Bid: MOVABL	E BRIDGE REHAB-	SPAN MOTORS AND	CONTRO	OLLERS,
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Seacoast	First Offer - \$41,832.00	1 / lump sum	\$41,832.00		
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
KIEWIT INFRASTRUCTURE SOUTH CO. 🗸	First Offer - \$180,000.00	1 / lump sum	\$180,000.00		
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			

PNC2114822C101-33 Best and Final Offer: Base Bid: MOVABLE BRIDGE REHAB-SPAN MOTORS AND CONTROLLERS, REMOVE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00						
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Seacoast /	First Offer - \$4,160.00	1 / lump sum	\$4,160.00						
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							

PNC2114822C101-34 Best and Final Offer: Base Bid: MOVABLE BRIDGE - REHAB, PROGRAMMABLE LOGIC CONTROLLER, F & I								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
KIEWIT INFRASTRUCTURE SOUTH CO. 🗸	First Offer - \$71,000.00	1 / each	\$71,000.00					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Seacoast 🗸	First Offer - \$139,830.00	1 / each	\$139,830.00					
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:					

PNC2114822C101-35 Best and Final Offer: Base Bid: MOVABLE BRIDGE - REHAB, LIMIT SWITCHES & TRANSDUCERS, F & I									
Supplier	Unit Price	Unit Price   Qty/Unit   Total Price   Attch.   Docs							
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$17,000.00	1 / lump sum	\$17,000.00						
Product Code: Supplier Product Code:									

Agency Notes:		Supplier Notes:	g .
Seacoast V	First Offer - \$44,079.00	1 / lump sum	\$44,079.00
Product Code:		Supplier Product C	ode:
Agency Notes:		Supplier Notes:	

PNC2114822C101-36 Best and Final Offer: Base Bid: MOVABLE BRIDGE - REHAB, LIMIT SWITCHES & TRANSDUCERS, REMOVE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$1,000.00	1 / lump sum	\$1,000.00						
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Seacoast V	First Offer - \$1,856.00	1 / lump sum	\$1,856.00						
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

PNC2114822C101-37 Best and Final Offer: Base Bid: MOVABLE BRIDGE - REHAB, CONTROL CONSOLE, F & I									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer -	\$120,000.00	1 / each	\$120,000.00					
			Supplier Product Code: Supplier Notes:						
Seacoast V	First Offer -	\$135,406.00	1 / each	\$135,406.00					
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:					

PNC2114822C101-38 Best and Final Offer: Base Bid: MOVABLE BRIDGE - REHAB, CONTROL CONSOLE, REMOVE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$2,500.00	1 / each	\$2,500.00							
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:							
Seacoast V	First Offer - \$5,889.00	1 / each	\$5,889.00							
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:							

PNC2114822C101-39 Best and Final Offer: Base Bid: MOVABLE BRIDGE - REHAB, CONTROL PANEL - MOTOR CONTROLLER, F & I									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$80,000.00	1 / each	\$80,000.00						
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Seacoast V	First Offer - \$203,461.00	1 / each	\$203,461.00						
Product Code:		Supplier Product C	Code:						
Agency Notes:		Supplier Notes:							

PNC2114822C101-40 Best and Final Offer: Base Bid: MOVABLE BRIDGE CONTROL HOUSE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$629,000.00	1 / lump sum	\$629,000.00						
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						
Seacoast 🗸	First Offer - \$633,007.00	1 / lump sum	\$633,007.00						
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						

PNC2114822C101-41 Best and Final Offer: Base Bid: PEDESTRIAN RAILING STEEL ONLY							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Seacoast	First Offer - \$427.00	950 / linear foot	\$405,650.00				

	•			. ago o
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
KIEWIT INFRASTRUCTURE SOUTH CO. 🗸	First Offer - \$455.00	950 / linear foot	\$432,250.00	
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PNC2114822C101-42 Best and Final Offer: Base Bid: COATING EXISTING STRUCTURAL STEEL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Seacoast	First Offer - \$660,000.00	1 / lump sum	\$660,000.00						
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$670,000.00	1 / lump sum	\$670,000.00						
Product Code:	_	Supplier Product C	Code:						
Agency Notes:		Supplier Notes:							

PNC2114822C101-43 Best and Final Offer: Base Bid: LIGHTPOLE COMPLETE, F & I, WIND SPEED 150 MPH, 40 FEET POLE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$7,800.00	13 / each	\$101,400.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Seacoast 🗸	First Offer - \$7,932.00	13 / each	\$103,116.00						
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

PNC2114822C102-01 Best and Final Offer: Option A: FURNISH AND INSTALL NOISE MITIGATING WHEEL PATHS									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer	- \$30,000.00	1 / lump sum	\$30,000.00					
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Seacoast /	First Offer	- \$92,000.00	1 / lump sum	\$92,000.00					
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						

PNC2114822C102-02 Best and Final Offer: Option A: CONCRETE CLASS IV, FILL/STEEL GRID FLOORING (LIGHTWEIGHT)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Seacoast	First Offer - \$1,500.00	7 / cubic yard	\$10,500.00			
Product Code: Agency Notes:  Supplier Product Code: Supplier Notes:						
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$4,300.00	7 / cubic yard	\$30,100.00			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2114822C102-03 Best and Final Offer: Option A: MOVABLE BRIDGE COUNTERWEIGHT, F&I, BALANCE BLOCKS, WHEEL PATHS						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$87.00	1000 / each	\$87,000.00			
Product Code:  Agency Notes:  Supplier Product Code:  Supplier Notes:						
Seacoast V	First Offer - \$100.00	1000 / each	\$100,000.00			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2114822C1--02-04 Best and Final Offer: Option A: ADDITIONAL BONDING PREMIUM FOR GROUP 2

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$600.00	1 / lump sum	\$600.00		
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Seacoast V	First Offer - \$1,200.00	1 / lump sum	\$1,200.00		
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PNC2114822C103-01 Best and Final Offer: Option B: FURNISH & INSTALL LUMINAIRES AND BRACKET ARMS						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$6,300.00	4 / each	\$25,200.00			
Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:				
Seacoast V	First Offer - \$6,856.00	4 / each	\$27,424.00			
Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:				

PNC2114822C103-02 Best and Final Offer: Option B: ADDITIONAL BONDING PREMIUM FOR GROUP 3						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$100.00	1 / lump sum	\$100.00			
Product Code: Supplier Product Code:						
Agency Notes: Supplier Notes:						
Seacoast V	First Offer - \$200.00	1 / lump sum	\$200.00			
Product Code: Supplier Product Code:						
Agency Notes:	Supplier Notes:					

PNC2114822C104-01 Best and Final Offer: Option C: FURNISH AND INSTALL DECORATIVE ROADWAY LUMINAIRES, POLES AND ARMS AS SHOWN ON CO						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Seacoast	First Offer - \$5,183.00	13 / each	\$67,379.00			
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:						
KIEWIT INFRASTRUCTURE SOUTH CO. 🗸	First Offer - \$6,200.00	13 / each	\$80,600.00			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PNC2114822C104-02 Best and Final Offer: Option C: ADDITIONAL BONDING PREMIUM FOR GROUP 4						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
KIEWIT INFRASTRUCTURE SOUTH CO.	First Offer - \$320.00	1 / lump sum	\$320.00			
Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:				
Seacoast V	First Offer - \$500.00	1 / lump sum	\$500.00			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

## Supplier Totals

f KIEWIT INFRASTRUCTURE SOUTH CO. ✓ \$8,100,068.00 (51/51 items)

Bid Contact JOSEPH PAPITTO Address 1580 SAWGRASS CORPORATE

JOE.PAPITTO@KIEWIT.COM PARKWAY

Ph 954-835-2228 SUITE 300 SUNRISE, FL 33323

Agency Notes: Supplier Notes: Head

		Attch:
Bid Allowance		\$148,000.00
f Seacoast 🗸	\$8,235,415.00 (51/51 items)	
Bid Contact William Wilson w.wilson@seacoastinc.net Ph 813-925-3555	Address 765 Dunbar Ave OLDSMAR, FL 34677	
Agency Notes:	Supplier Notes:	Head Attch:
Bid Allowance		\$148,000.00

## **Award Total**

\$16,335,483.00 (Does not apply to percentage or no price items.)

<sup>\*\*</sup> All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.